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| Part A: Grammar
| Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see
four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that

best completes the sentence. Then mark your answer sheet.

1) phones - ever lived 2) has phoned- has ever lived
3) is phoning- was ever living 4) phoned - is ever living
2- By the time she -------——- high school, Sally ---------- basic skills in everything from
basketball to photography to short story writing.
1) have finished- acquired 2) had finished- was acquiring
3) were finishing- has been acquiring 4) finished- had acquired
3- - 15 billion years ago, the universe was filled with -----—---- hot, dense,
uniformly distributed gas --—------—- matter and radiation.
1) Some- a- of 2) A- a- the
3) —- a- the 4) The- a- the
4-  As the authors suggest, technology —————-- the picture, but can only help us -—--——-
our limited resources as efficiently as possible.
1) changing- being used 2) having changed- using
3) will change- to use 4) changed- have used
5-  People do make mistakes. He ---—---—-— you long ago but really I don’t know the
answers.
1) must have told 2) used to tell
3) is using to tell 4) should have told
6- - had we finished our work ------——--- we went home immediately.
1) No sooner- than 2) Whether- or
3) Not only- also - 4) Neither- when

7-  Upon seeing the condition of the wrecked buildings, we were relieved ----------

a more serious injury.

1) avoid 2) to avoid
3) avoiding 4) to be avoiding
8- Her family didn’t approve either, but Rose told them she --——----- as she wished,
and she went ahead with her plans.
1) were old enough doing 2) was old enough to do o
3)khas been such old to do | 4 would be such:()l‘d: d(jing :
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10-

11-

12-

13-

14-

15-

16-

17-

18-

|| Part B: Vocabulary 7
| Directions: Questions 11-25 are incomplete sentences. Beneath each sentence, you will see ||
| four words or phrases, marked (1), (2), (3), and (4). Choose the one word or Dhrase that
| best completes the sentence. Then mark your answer sheet.

Suppose that I ———e--nm— on a bitterly cold day, ---------- you jump in the water and
rescue me?

1) had drowned / could 2) will be drowning / can

3) am drowning / did 4) were drowning / would

——-——— ordinary chestnuts, which are delicious when roasted, horse chestnuts, which
are inedible and are most commonly used by children in a game called ‘conkers’.
1) Besides , 2) Whereas

3) In contrast to 4) On the ther hand

T P— ledicta of hi cs at din a ste to
reach that goal.

1) aspired 2) assuaged 3) lingered 4) astounded
The first noticeable factor about this hospital is its compactness, coupled with the
absence of noise and of ---------- and general disturbance.

1) rattle 2) drizzle 3) roar 4) clatter

Taylor is ---------- about the fact that some of the best theories we have at present

are rather tentative.

1) ominous 2) candid 3) flamboyant 4) volatile

We cannot seriously undertake a program on energy efficiency with the budget
which they ---------- suggest as being appropriate. .

1) ardently 2) plausibly 3) scornfully 4) coherently
You may be able to receive restitution and may help other consumers avoid
utilizing the services of a mortgage broker who is out to -—----—--- people.

1) dismay 2) swindle 3) confess 4) muster

The city has traditionally favored the -----—--m- of space for business and

employment uses, but some residences are now being built.

1) procedure 2) accommodation  3) privilege 4) retention

He began other accounts of the campaigns of his own age; but they are marred by
his having had few -------e—- documents and statistics at hand.

1) trustworthy 2) beneficial 3) literate 4) measurable
Le Bret takes him aside and chastises him for his behavior, but Cyrano responds

1) abruptly 2)timidly 3) haughtily 4) mutually
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19- Only when the pelican would -----—---- its wings could someone see how massive his
wings are.
1) illustrate 2) navigate 3) flutter 4) dominate

20- Some people find that repeating a word, such as “God” or a positive -——---—--
during their meditation is helpful.
1) affirmation 2) compulsion 3) registration 4) opportunity
21- In more ---------- surroundings perhaps we could come to some understanding and

move forward in a mutually peaceful way.

1) similar 2) serene 3) precise 4) random
22- The export trade, however, is decreasing ---—-------- , while the home consumption is
increasing.
1) initially 2) alternatively 3) consequentially ~ 4) considerably
23- In the light of facts such as these, who could-------—-- to say what the future of
Hinduism is likely to be?
1) estimate 2) define 3) venture 4) acquire
24- Nevertheless it aids---------- of a species’ self-destructive tendencies, which might

mean wiping out the civilization.
1) eradication 2) distribution 3) sequence 4) bankruptcy
25- The science and technology must be -----—-----—- , whether theoretically possible or
based purely on a fictional hypothesis.
1) irrelevant 2) potential 3) deliberate 4) plausible

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series.

Then mark the correct choice on your answer sheet.

26-
1) The reason he lost his job was that he was on the habit that he was being late.
2) The reason why he lost his job was that he was in the habit of being late.
3) The reason why lost his job was that he was on the habit he was late.
4) The reason of losing his job that was being late the habit of him.
27-

1) The Government has started scholarship system so that some poor but intelligent
students may have the chance to go to the university.

2) The Government has some scholarship systems for poor but intelligent students
having the chance going to the university.

3) The Government has some scholarship systems to poor but intelligent students
have the chance of going to the university.

4) The Government has started scholarship system so some poor but intelligent

students have the chance going to the university.
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28-
1) Would I know this house so dilapidating, I didn’t buy it.
2) If I could know this house was so dilapidating, I hadn’t bought it.
3) If I had known that this house was so dilapidating I couldn’t have bought it. P
4) Had I known that this house was so dilapidated I wouldn’t have bought it. —
29-
1) The headmaster insisted giving the speech, though hardly he was able to talk.
2) The headmaster gave insistence the speech, hardly though he was able to talk.
3) The headmaster insisted on giving the speech, though he was hardly able to talk.
4) The headmaster gave the speech insistence, though he hardly was able to talk.
30-
1) He enjoyed computer games playing firstly, but he was bored after on them a while.
2) He enjoyed firstly to play computer games, but he got bored a while after on them.
3) He at first enjoyed with computer games playing, but he was bored with them
a while after. @
4) He enjoyed playing with computer games at first, but after a while he got L
bored with them.

Part D: Language functions
Directions: Read the following conversations between two people and choose the answer

choice (1), (2), (3), or (4) that best completes the blank in the conversation. Then mark the |
correct choice on your answer sheet.

A: What will you do if it rains?

B: The football match will be ---------- until next week.
31- 1) given out 2) run through
3) put off 4) taken on
A: The new engineer is highly knowledgeable.
B: Can we ———-——-- him to lead the team successfully?
32- 1) takeup 2) rely on 3) find out 4) come to
A: Why do many of the lesser developed countries find it hard to ---------- the more

developed ones.
B: Because of the rapidadvances in technology there.

33- 1) make up for 2) keep up with
3) have out with | 4) fill in on

@ Tahlilazemoon




§ amiuo Mﬂ\ub)

A: Were the visitors taken to the airport?

B:Yeah, they were ---—------ by the assistant manager.
34- 1) seen off 2) looked over 3) left out 4) dealt with
A: I want something to drink.
B: The coffee is in the kitchen, Jim. Will you ---------- and serve it?
35- 1)take French leave 2) put the boot in
3) do the honors 4) do time

A: They have sent us a large bill, but we can’t pay it now.

B: Then you have to --—--------

36- 1) play for time 2) go to pieces
3) be allk set for 4) get you figure out
A: Our professor is giving a lecture this afternoon.
B: - . I’m going after I call my friend.
37- 1) Go ahead 2) Pardon \ 3) I know 4) After all
A: I’m very happy for David.
B: Me too. I can’t believe his cancer was gone ---------- .
38- 1) now and again  2) by and large 3) high and low 4) for good
A: Can I give you a hand with the dishes?
B: ---—---—-, I’ll do them later. ;
39- 1)Up to you 2)‘ Don’t bother
3) Out of business | 4) Not a while
A: Mary is going to pick up me.
B: ------—-—- She is not of legal age to drive. TR
40- 1) So what? 2) How could she?
3) God only knows. 4) Don’t mention it.

Part E: Cloze Test
| Directions: Questions 41-55 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The dangerous nature of social media has been reviewed no end of times. The 41) ---------
of it are good and we can see how it is useful, but sometimes a good idea can 42) ---------
into something bad. The concept of gathering like-minded people to share their
interests at a/an 43) --------- price for everyone is fascinating; however, from this a
monster has evolved through the 44) --------- of it and its overuse. If you think about
it, how often do companies hire people based on what they have seen about them on
social media 45) --------- looking at the CV? How many people have lost their
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jobs 46) --------- something that was posted on either Facebook or Twitter? The
lack of privacy in our fast paced cyber-world is quite

47) ----mmmm- worrying and we need to look for an acceptable 48) --------- .Even those
who are not directly linked to you (on your friends list etc.) can observe your 49) ---------
and see what you are posting on the walls of others, what you need to keep in mind is that
everything you put online stays there forever, no matter (50) --------- it, it can always
be recovered and 51) --------- back to its origin. This has been observed with various
examples amongst public officials and celebrities who have had to ask for 52) ---------
or significantly change their policies because of things they have said, even years after

these 53) --------- .The --------- 54) of privacy has been lifted and we need to take note.
Be careful 55) --------- what you post online!

41- 1) principles 2) sources 3) discriminations  4) publications
42- 1) become 2) take 3) get 4) converted
43- 1) reasonable 2) cheap 3) affordable 4) accessible

44- 1) exploitation
45- 1) despite

2) definition
2) instead of

3) distribution
3) in case of

4) motivation
4) compared to

46- 1) because 2) due to 3) so as 4)in order to
47- 1) intentionally 2) randomly 3) superficially 4) frankly
48- 1) alternative 2) flipside 3) surrogate 4) back-up
49- 1) entity 2) motion 3) behavior 4) magnitude

50- 1) how hard you try to delete
3) you try to delete how hard

2) how you to delete hard
4) to delete how hard you try

51- 1) investigated 2) found 3) traced 4) recovered
52- 1)assistance 2) fluctuation 3) prescription 4) forgiveness
53- 1) opportunities 2) occurrences 3) attitudes 4) imitations
54- 1) illustration 2) reality 3) symbol 4) illusion

55- 1) by 2) with 3) at 4) over

Part F: Reading Comprehension
| Directions: In this part of the test, you will read Three passages. Each passage is followed by
Jfive questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark |

Passage 1:
The Cajun people, descendants of the French Acadians who resettled in south
Louisianain the mid-1700s, have been producing their own traditional style of
music for nearly twocenturies. However, by the late 1940s, commercially
recorded Cajun music had begun to loseits individual character in favor of new
sounds heavily influenced by hillbilly music and western swing. Then, in 1948,
Iry Lejeune recorded “La Valse du Pont d’Amour.” Greatly inspired by the
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recordings of AmedeArdoin and by his own relatives and neighbors in Pointe
Noire, Louisiana. Lejeune went against the grain to perform in the old,
traditional style long forced underground. Some said the young singer from
rural Louisiana who carried his accordion in a flour sack didn’t know better, but
crowds tushed to hear his highly emotional music. His unexpected success
focused attention on cultural values that Cajuns had begun to fear losing.

Iry Lejeune became a pivotal figure in the revitalization of Cajun music;
his untimely death in 1955 only added to his legendary stature. Following his
lead, musicians like Joe Falcon, Lawrence Walker. Austin Pitre, and Nathan
Abs hire dusted off long - abandoned accordions to perform and record
traditional - style Cajun music. Interest and demand were especially strong
after the Second World War among returning soldiers, tired of foreign wars
and foreign affairs, who wanted only to get back to the comfort and security of
their own culture. Local music store owners pioneered their own local
recording industry since national record companies had abandoned regional

traditional styles and were only producing music with a broader, national appeal.

56. Cajun music recordings in the 1940’s were —--—--- -
1) imitations of AmedeArdoin’s work _—
2) Performed in the traditional style
3) Influenced by other forms of American music
4) a huge commercial success
57. To say that Lejeune went “against the grain” (line 8) when perfdrming in the old,
traditional style suggests Which of the following?
1) He played music most other musicians weren’t playing.
2) He preferred to play modern music. ‘ &
3) He performed badly when he played traditional music.
4) He could not make a living playing music. .
58. The word “who” in paragraph 1 refers to which of the following?
1) Neighbors ~ 2) Crowds 3) Ardoin ~ 4)Lejeune
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59. It can be inferred from the passage that when Lejeune died -~------- .
1) his popularity increased
2) people stopped playing accordions
3) musicians lost interest in traditional music
4) local music store owners lost money
60. Why did interest in traditional Cajun music increase after the Second World War?
1) It had a broad, national appeal.
2) Returning soldiers had missed their culture.
3) The recording industry became more interested in it.

4) Modern music had become distasteful.

Passage 2:

Writing of the Iroquois nation, Smith has argued that through the chiefs’
council, tribal chiefs traditionally maintained complete control over the political
affairs of both the Iroquois tribal league and the individual tribes belonging to
the league, whereas the sole jurisdiction over religious affairs resided with the
shamans. According to Smith, this division was maintained until the late
nineteenth century, when the dissolution of the chiefs’ council and the
consequent diminishment of the chiefs’ political power fostered their increasing
involvement in religious affairs.

However, Smith fails to recognize that this division of power between the
tribal chiefs and shamans was not actually rooted in Iroquois tradition; rather,
it resulted from the Iroquois’ resettlement on reservations early in the
nineteenth century. Prior to resettlement, the chiefs’ council controlled only
the broad policy of the tribal league; individual tribes had institutions - most
important, the longhouse - to govern their own affairs. In the longhouse, the
tribe’s chief influenced both political and religious affairs.

61. The primary purpose of the passage is to ----n--- .
1) question the published conclusions of a scholar concerning the history of the
Iroquois nation

2) establish the relationship between an earlier scholar’s work and new

anthropological research

3) summarize scholarly controversy concerning an incident from Iroquois history

4) differentiate between Iroquois political practices and Iroquois religious practices
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62. It can be inferred that the author of the passage regards Smith’s argument as -—-———- .
1) eloquently presented, but needlessly inflammatory
2) historically sound, but overly detailed and redundant
3) provocative and potentially useful, but flawed by poor organization

4) accurate in some of its particulars, but inaccurate with regard to an important point

63. Which of the following occurred after the Iroquois were resettled on reservations
early in the nineteenth century?
1) Chiefs became more involved in their tribes' religious affairs.
2) The authority of the chiefs'council over the affairs of individual tribes increased.
3) Individual tribes coalesced into the Iroquois tribal league.

4) The longhouse because a political rather than a religious institution.

64. Which of the following best expresses an opinion presented by the author of the passage?

1) Smith has overstated the importance of the political role played by Iroquois
tribal chiefs in the nineteenth century.

2) Smith has overlooked the fact that the Iroquois rarely allowed their shamans
to exercise political authority.

3) Smith has failed to acknowledge the role prior to the nineteenth century of the
Iroquois tribal chiefs in religious affairs.

4) Smith has failed to recognize that the very structure of Iroquois social

institutions reflects religious beliefs.

65. You can find out that Smith is most probably a/an --—-------—-.
1) anthropologist 2) politician
3)theologian 4) archeologist
Passage 3:

New observations about the age of some globular clusters in our Milky Way
galaxy have cast doubt on a long-held theory about how the galaxy was formed.
The Milky Way contains about 125 globular clusters (compact groups of
anywhere from several tens of thousands to perhaps a million stars) distributed
in a roughly spherical halo around the galactic nucleus. The stars in these
clusters are believed to have been born during the formation of the galaxy, and
so may be considered relics of the original galactic nebula, holding vital clues to

the way the formation took place.
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The conventional theory of the formation of the galaxy contends that
roughly 12 to 13 billion years ago the Milky Way formed over a relatively
short time (about 200 million years) when a spherical cloud of gas collapsed
under the pressure of its own gravity into a disc surrounded by a halo. Such a
rapid formation of the galaxy would mean that all stars in the halo should be
very nearly the same age.

However, the astronomer Michael Bolte has found considerable variation
in the ages of globular clusters. One of the clusters studied by Bolte is 2 billion
years older than most other clusters in the galaxy, while another is 2 billion
years younger. A colleague of Bolte contends that the cluster called Palomar
12 is 5 billion years younger than most other globular clusters.

To explain the age differences among the globular clusters, astronomers
are taking a second look at "renegade" theories. One such newly fashionable
theory, first put forward by Richard Larson in the carly 1970s, argues that the
halo of the Milky Way formed over a period of a billion or more years as
hundreds of small gas clouds drifted about, collided, lost orbital energy, and
finally collapsed into a centrally condensed elliptical system. Larson's
conception of a - lumpy and turbulent proto-galaxy is complemented by
computer modeling done in the 1970s by mathematician Alan Toomre, which
suggests that closely interacting spiral galaxies could lose enough orbital

energy to merge into a single galaxy.

66. The passage is primarily concerned with discussing -~--------,
1) the origin, nature, and significance of groups of stars known as globular clusters
2) recent changes in the procedure used by astronomers to study the formation of
the Milky Way galaxy
3) current disputes among astronomers regarding the size and form of the Milky
Way galaxy
4) the effect of new discoveries regarding globular clusters on theories about the

formation of the Milky Way galaxy
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67. One way in which Larson’s theory and the conventional theory of the formation of
the Milky Way galaxy differs is in their assessment of the --------—- .
1) amount of time it took to form the galaxy
2) size of the galaxy immediately after its formation
3) particular gas involved in the formation of the galaxy
4) importance of the age of globular clusters in determining how the galaxy was
formed
68. If Bolte and his colleague are both correct, it can be inferred that the globular
cluster Palomar 12 is approximately --------—-- .
1) 5 billion years younger than any other cluster in the galaxy
2) 7 billion years younger than another cluster in the galaxy
3) 12 billion years younger than most other clusters in the galaxy

4) 2 billion years younger than most other clusters in the galaxy

69. The passage suggests that Toomre’s work complements Larson’s theory because

1) specifies more precisely the time frame proposed by Larson
2) subtly alters Larson’s theory to make it more plausible
3) supplements Larson’s hypothesis with direct astronomical observations

4) provides theoretical support for the ideas suggested by Larson

70. The author of the passage puts the word “renegade” in paragraph 4 in quotation
marks most probably in order to -------—-- .
1) emphasize the lack of support for the theories in question
2) contrast the controversial quality of the theories in question with the
respectable character of their formulators
3) indicate that the theories in question are no longer as unconventional as they
once seemed

4) ridicule the scientists who once doubted the theories in question
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